,3;%,};“:34420 , =~ A4 o~ — . L1 s s
pai 1L 2354 f #8432 5d 384

W i Y
F I 2 e I
FRER 2P o
AR (—)ﬁ IR i
DH )R ‘Fféfﬁ\’j"j‘%‘vé‘%\%\%{; FPERERIERG AFEE F TR ‘f'f?}jﬁ/ PR AGA
(_)7’\7}419 %5 ARSI T AR A

— R RSN R 0 (20 A)

m

= (hemoglobin) % #a3k & ¥ 3 1308 &

4 5§ R
5 1L op K—,"i’ﬁ'xﬁﬁ__/n\g‘ﬁj'fi\ﬁp ﬁ”ﬁ‘}.rg‘%ﬁp\ﬂ)’(ﬂ_?ﬂ

Ji

\ﬁi%‘%wrﬂ4fL’ 7] HPG #h (HPG axis ) i 4 a2 55 > S ik gt p
m@r%%ﬁwubaﬁﬁw%ééiuﬁwiéfﬁﬂwé’;ﬁ%ﬁﬁ%é¥1
TR FRSH g ageLs e ? (204)

B AAE G R BE S BB FHRP Lo R SRR P
A B P S 38 e (20 &)

I‘”Ké%ﬁ%%ﬁ%kaﬂﬁﬁfﬁhﬁ’3?$ﬂpﬂgwwﬁﬁﬁ£ BRe
kP B ER S HE NG o GEP I FRA L B K RE B KRR 5 TR
L W

’ﬂﬁ—k\i"l\ﬁ 1E:f’f/4 }EF%E‘F°<20A\>



